Adesoukn 2025r

CapadaH
116-146 152-164
c-03 KocTiomHasa Y.t 3150= 3570=
Cc-04 KocTtiomHaa 4.1 2700= 3050=
C-05 KocTtiomHaa Y.t 2700= 3050=
C-06 KocTtiomHaa Y.t 3300= 3710=
C-07 KocTtiomHaa Y.t 2820=
C-08 KoctiomHaa 4.1 3370= 3780=
C-10 KocTtiomHaa Y.t 2800= 3200=
116-146 152-164

KocTtiomHaa 4.1 2790=
Cc-11
C-19 KocTtiomHaa 4.1 2920=
C-26 KocTtitomHaa Y.t 3330=
C-32 KocTtiomHaa Y.t 2920=
C-35 KocTtiomHaa Y.t 3400=
C-36 KoctiomHasa 4.1 2930=




C-37 KoctiomHasa Y.t 3220=
KHuner
116-146 152-176
Kn-03 KoctiomHasa Y.t 2340= 2570=
146-176
Kn-05 KoctiomHasa Y.t 2390=
Kn-06 KoctiomHasa Y.t 2690=
116-146 152-176
Hn-09 KoctiomHasa Y.t 2450= 2720=
Kn-10 KoctiomHasa Y.t 2380= 2670=
Kn-12 KoctiomHasa Y.t 2280= 2530=
116-146 152-176 182-188
WKn-22 KoctiomHasa 4.1 3890= 4040= 4320=
116-146
KoctiomHasa 4.1 2400=
Kn-23
bptoku
116-146 152-176
b-08 KoctiomHasa 4.1 2110= 2470=
116-146 152-17 182-18
6 8
KoctiomHaa Y.t 2430= 2830= |3100=
B-10
152-176 182-186
b-11 KoctiomHasa 4.1 2430= 2740=




152-176

b-22 KoctiomHasa 4.1 2510=
lO6Ka
116-146 152-176
H0-02 KoctiomHasa Y.t 1720= 2100=
0-04 KoctiomHasa Y.t 1810= 2100=
0-19 KoctiomHasa Y.t 1780= 2030=
H0-09 KoctiomHasa M.t 1960= 2220=
152-176 182-188
0-11 KoctiomHasa M.t 1820= 2000=
116-146
0-13 KoctiomHasa 4.1 2050=
H0-16 KoctiomHasa 4.t 1720= 1950=
0-25 KoctiomHaa Y.t 1940= 2360=
lO-lU 01 KocTiomHasa Y.t 2150 2550=
Hakert
140-176
K-04 KoctiomHasa M.t 4200=
BaHTUK | B accoptumeHTe 270=




Manbuukun 2025

6ptoKun
116-146 152-176 182-188
b-01 KocTiomHasa Y.t 2300= 2590= 2830=
B-02
b-11
B-06 KocTiomHasa Y.t 2300= 2590= 2860=
B-09
146-170
B-05 KoctiomHasa Y.t 2720=
116-146 152-176
b-17 KoctiomHasa 4.t 2200= 2610=
Kuner
Kn-01 116-146 152-176 182-188
KoctiomHaa Y.t 2270= 2560= 2800=
116-146
Hn-02 | KocttomHasa Y.t 2400=
Hn-20 | KocttomHasa Y.t 2550=
Kn-24 | KoctromHasa Y.t 2500=
nnAaXKakK
116-146 152-164
Mmk-04 | KoctiomHasa M.t 3970= 4310=
Mx-06




152-176 182-188
Mx-07 | KocTiomHana Knetka 4.t 5180= 5490=
rafCTyK | B aCCOPTUMEHTE 270=
rafCTyK | B aCCOPTUMEHTE 370=

noap.




